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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each|

sentence. Then mark your answer sheet,

1- Before you ---=-eeve- to the next question, you should take some time to make sure
you're happy with your answers so far.
1) prescribe 2) precede 3) proceed 4) preface

2- My first day of babysitting was an absolute -—---—-- ; the kids spilled food all over the
kitchen and they wouldn’t listen to anything I had to say.
1) invasion 2) enigma 3) condemnation 4) fiasco

3- We were very unhappy with the --—----- way the moving company tossed our boxes
into our new house.
1) haphazard 2) impatient 3) initial 4) neutral

4- The author used -————— when he said the dog was *as big as a house.”
1) shortsightedness 2) hyperbole 3) precision 4) pretension

5- I never thought you would get so upset about such a --—--- -- maftter.
1) contradictory  2) consistent 3) colloguial 4) trivial

6- The police wondered about the man’s ---==----- for committing the crime.
1) inhibition 2) motive 3) impact 4) inspiration

7- While most club members have agreed with the decision, I expect Ricky to -----—mm-
forceibly.
1) dissent 2) vanish 3) avoid 4) abate

8- “It is my firm --—----e- s said the candidate, "that family farms must receive
government help.”
1) speculation 2) safeguard 3) conviction 4) deprivation

9- You’ll have a better chance of finding that unusual word if you look it up in a/an
wemmmeeeen (liCtiOnAry

1) skilled 2) publicized 3) cultured 4) unabridged

10- Because the hikers planned to reunite at 4:00 P.M., they paused to ---------- their
watches.
1) illuminate 2) reinforce 3) synchronize 4) chronicle

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Herbicides, also commonly known as weed killers, are pesticides used to kill unwanted plants.
Selective herbicides kill specific targets, (11) -------—- the desired crop relatively unharmed.
Some of these act by interfering with (12) ====------ and are often synthetic mimics of natural
plant hormones. Herbicides used to clear waste ground, industrial sites, railways and railway
embankments are not selective (13) ———— all plant material with which they come into
contact. Smaller quantities are used in forestry. pasture systems, and management of arcas
(14) —==mmeamm as wildlife habitat,

Some plants produce natural herbicides, (15) === the cenus Juglans (walnuts), or the
tree of heaven: such action ol natural herbicides, and other related chemical interactions, is
called allelopathy.

11- 1) they leave 2) when left with 3) while leaving 4) by leaving
12- 1) the weed of growth 2) the growth of the weed
3) the weed in growing 4) the growing of weed

13- 1) and kill 2) killer of 3) to kill 4) which kill
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14- 1) where set aside 2) in which they are set aside
3) that set aside 4) set aside
15- 1) either 2) such as 3)or 4} includes

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the

best chaoice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE 1:

Seagoing marine vehicles may be divided into transport, including cargo, container. and
passenger ships and nontransport including fishing vessels. service crafi such as tugs and
supply vessels. and warships. Merchant ship types can be classified accordingly with the major
types being: general cargo ships, container ships, tankers, dry bulk carriers, passenger ships,
and tugs. General cargo ships are generally smaller than the ships devoted to the carriage of
bulk cargoes. Typically their speeds range from 12 to 18 knots. Container ships are a good
example of an integrated approach to the problem of transporting goods; once goods are placed
in the container at a factory or depot. they can be carried by road, rail or sea, being transferred
from one to another at road or rail depots or a port. Roll-on roll-oft ships (Ro-Ro ships) are
designed for wheeled cargo, often in the form of trailers. The increasing volume of car and
truck production in the East (Japan, Korea, and China) and a large customer base in the West
has seen the introduction and rapid increase in number of ships specifically designed and built
to facilitate the delivery of car carriers globally. Car carriers are strictly functional having a
very high box-like form above the waterline to accommodate as many vehicles as possible on,
iIn some cascs as many as a dozen decks. Most bulk carriers are single deck ships.
longitudinally framed with a double bottom, with the cargo-carrying section of the ship divided
into holds or tanks. Tankers are used for the transport of liquids. and include crude oil carriers.
product tankers, gas tankers, and chemical carriers. Passenger ships can be considered in two
categories, the cruise ship and the ferry.

16- Marine vehicles are divided into

1) Three types 2) Two types 3) Four types 4) Five types
17- Container ships are a type of 5

| ) transport vessel 2) non transport vessel

3) Ro Ro ships 4) modern vessels
18- Warships are used for --—---——------ :

I ) car transportation 2) fishing

3) military purpose 4) war purpose

19- Car carriers ---—---=--- .
I) are made to carry the car of people in the east
2) are made for people in the west
3) have a higher section from water line
4) have a speed of 12 to 18 knots
20- Different goods can be carried by

1) Supply vessels 2) Tugs

3) Liquid carrier ships 4) Container ships
21- Which vehicle may have more than ten decks?

1) Car carrier 2) Ro Ro ships

3) Warships 4)General cargo ships
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PASSAGE 2:

According to the report. Asia-Pacific dominated the marine coatings market in 2013 and
accounted for over 75% of the market size. by volume and value. Country-wise, China is the
top consumer of marine coatings products. South Korea 1s the second-largest marine coatings
consumer in the world. The demand for coatings is increasing in this region owing to building
of new ship and dry-docking.

There are three main factors contributing to growth in the marine coatings market. the report
explained. These include the continued expansion of the oil and gas market, more extensive use
of coatings to ensure long-term protection of marine assets and the implementation of IMO
ballast tank coating rules. However. strict environmental regulations and customer preference
for eco-friendly products are boosting innovation. Scientists and industrialists are developing
metal-free anti-fouling coatings which will not affect marine life. Some challenges faced by the
industry are consolidation of shipping companies and the projected decline in shipbuilding
production. Consolidation of shipping companies is putling pressure on marine coatings prices
for manufacturers.

Anti-corrosive coatings are the most commonly consumed marine coatings, they accounted for
60% share of the total market size, in terms of volume in 2013, They are estimated to continue
being the most consumed marine coatings. Anti-corrosive coatings are followed by anti-fouling
coatings with a market share of 34% in the same year.

22-  Anti-fouling coatings are .
I ) the mostly consumed marine coatings
2) used in the oil and gas market
3) produced in South Korea
4) used since 2013
23-  Marine coating is growing because
I ) owners like to consolidate ships
2) innovation activities are restricted
3) metal is very expensive
4) there is a tendency towards long term protection of marine vessels
24- Which sentence is correct according to the passage?
1) Coating has no effect on marine life.
2) Many research studies are going on in the area of coating.
3 ) There is no restriction on the use of coatings.
4) The size of shipping companies is increasing.
25-  Shipping companies are getting together in order to
1) increase their size and volume
2) stop increasing the coating material price
3) increase their profit by 2013
4) avoid using eco-friendly material

PASSAGE 3:

Offshore structure are subjected to both steady and time dependent forces due to the action of
wind, current and waves. Winds exert predominantly steady forces on the exposed parts of
offshore structures, although there are significant gust or turbulence component in winds which
induce high unsteady, local forces on structural components as well as low frequency total
force on whole structure. Ocean current also exert largely steady forces on submerged
structures, although the localized effects of vortex shedding induce unsteady force component
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on structural members. However. gravity waves are by far the largest force on most offshore
structures. The applied force is periodic in nature. although nonlinear wave properties give rise
mean and low — frequency drift forces. Non-linearities in the wave loading mechanism can also
induce superharmonic force components. Both these secondary forces can be significant if they
excite resonance i a compliant structure.

26-

3%

28-

29-

Both steady and time dependent forces on offshore structures are due to the action
of wind, and............

1) current 2) current and waves

3) waves 4) wind and current

Winds exert predominantly steady forces on the........... parts of offshore
structures, although there are significant gust or turbulence components in winds
which induce high unsteady.

1) above the water 2) underwater

3) under and above the water 4) under topside and above the water
What is the largest force on most offshore structures?

[) Current 2) Drift wave 3) Gravity wave 4) Wind

Ocean currents also exert largely steady forces on submerged structures, although
the localized effects of vortex shedding induce ............. force component on
structural members.

1) constant 2) periodic 3) steady 4) time depending
Wave loading mechanism can also induce...... force components.
1) dynamics 2) periodic 3) steady 4) super harmonic
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